
1/8
NR931-380, NR931-107

PISB1610, PISB1615
Þ¿¬½¸ ²®æ



2/8



3/8

Ladder can be fitted
right or left side.

MAX.MATTRESS HEIGHT
17

7

7

4

1

1

2

2
3

12

12

5

6

9

10

11

18

18
9

10

11

16

15

8 9

10

11
14

13

10
11

9

8

5

16

6

16

16

 60 min

A 10x40 x65

B 15x80 x8

C 6,3x105 x16

D M6x100 x14

E M6x10x13 x14

F 7x50 x16

G 55/12,2x5 x8

H 3,5x40 x60

J 5x30 x3

K 4x30 x4

L 20x42x70 x2

M D8x13 x8

N D10x15 x6

P D15x18 x4

R 4mm x1

S x1GLUE

PISB1610, PISB1615
NR931-380, NR931-107

12

12



4/8

2x2

A

2xA
A

A

A

A

2xA

2xA

2xA 2xA2xA

2xA

2xA

2xA

2xA2xA

2x1

13 14

4 3 4x11

4x10

4x9

C

C

C

C
10

11

9

5

62x

A 10x40 x65

B 15x80 x8

3

C 6,3x105 x16

Always placed
inside the ladder

F 7x50 x16

2

1

C

C

C

C

9

10

11

7

8

4mm

4mm

15

2xF
2xF

2xF
2xF

2xF
2xF

2xF
2xF

15

16

16
16

16

GLUE

B
4x12

B

2xF



5/8

D M6x100 x8

E M6x10x13 x8

D M6x100 x4

E M6x10x13 x4

1

6

5

6

2

5D

D

D

D

E

E

E

E

E

4

2

7

8

7
3

1

4

8

D
D

D

D

D

D

D

D

E

E

E

E

2xE

2xE

5

4mm

4mm



6/8

12

12

12

12

6

H 3,5x40 x8

H

H

12



7/8

D M6x100 x2

E M6x10x13 x2

G 55x12,2x5 x8

J 5x30 x3

M D8x13 x4

N D10x15 x3

Decide which side to attach ladder.7

ASSEMBLING LADDER LEFT

14

2xG

2xG
G

GG

2xD
G

17

2xE
13

J
J
J

G

1/2

LADDER RIGHTLADDER LEFT

J

J
17

2xG4mm

2xMM
N
M

N

N

2xD

2xE



8/8

26xH

L 26xH

18

18

L

M D8x13 x4

N D10x15 x3

P D15x18 x4

H 3,5x40 x52

8

9

K 4x30 x4

L 20x42x70 x2

2.

1.

Es ist notwendig das Bett an der Wand
mit zu befestigen - siehe Zeichnung.Wichtig!

Important!

Important!

Il est induspensable de fixer le lit 
mezzanine au mur avec les 2 équerres L
Utiliser des vis et des chevilles adaptés
votre mur.

To secure the bed it is necessary to fix
the bed to the wall by mounting the 2
brackets L as shown on the illustration.

P

P

P

P

2xM
M

M
N

N

N

52xH

P

2xK

L



1/2

x35x45

B

 30 min

PIBELA10, PIBELA14

7x34

J

x8

3

PIBELA10, PIBELA14

A 8x40 x12

A 8x40 x12

B 7x34 x8

C 15x12 x8

D 3,5x40 x8

E D=26 x8

F 3,5x16 x16

G 1,6x16 x20

H 28x25x20 x3

C 15x12 x8

3

2x

C

1

5

2C

2x

2x

A
3

2x

A

2xA

5

2x

2

2x

2xA

1

B

6

1
2

4
3

6

5

2x

2xB

2xB

12x

2

C

Þ¿¬½¸ ²®æ



1/2

J
H

2xF

E

H

J

J

J

H

H

10xG

2xF

D

6

6
4
2xD

2x

2x

E

E

E
E
2x

F2x

F

2xF
2x

5

6

7

2x

4

E D=26 x8

F 3,5x16 x16

D 3,5x40 x8

G 1,6x16 x20

H 28x25x20 x3

J 5x45 x3

2/2


